i

28'-6"

486" Pay Limit

1/2" Fix. Jt——=—

19'-11 1/2"

i | i ’ i it | I &
Jt [ gt
~—=1"-4 1/2" 1-4 1/2"—=—
] " 1 "
~ 6 Post Spaces @ 7'-7 1/2"= 45'-9 -—
BILL OF MATERIAL
1'-2" ary PART # DESCRIPTION ASTM DESIGNATION
10" 14_| 0033.90344 [TWO RAIL POST @ 2'-2_3/8" 0A. A572 Gre 50
7" 2 | _0033.900050 [4° X 4° X 1/4° RAIL @ 26'-6’ AS500 Gr. B
4 2n,
o I_p_ 13 2 | 0033.900051 [4° X 4° X 1/4° RAIL e 19'-11 1/2° 4500 Gr. B
716 7
. 2 | 0033.900052 |[¢° X 8’ X 5/16° RAIL € 28°-6' 4500 Gr. B
113/16" | | o 10 2 | 0033.900053 |4 X 8" X 5/16” RAIL @ 19-11 1/2’ AS00_Gr.
2" 16 1/2" 2 | 0033.50052 |3 X _3° X 5/16” FIX. SPL, TUBE @ 1'-8° AS00_Gr.
83116 2 | 0033.90033 [3° X 7° X 3/8 FIX, SPL, TUBE € 1'-8" 3500 Gr-
w T 1 12" 14 | 0033.00299 {3/8” X 9 3/8° X 13" ANCHOR PLATES A3
feorden () 7 1'/2.. 14 | 003300052 [1/8° FIBER PAD @ 10° X 14’ (S-360A) AASHTO M251
' Pl %58 | 004221012 _|# I’ X 12’ ANCHOR STUDS W/ 2 1/2° THREADED ENDS A449
/ N ) 25" *1i4 | 0080.1890L |¢ I* HEAVY HEX NUTS 4563
——1 411/16" - =
1 1/4° DIA, HOLE 7 | 56 | 0080.18905 |9 1’ HEX JAM NUTS 325
FOR 1 Dla, ANCHOR WPS-3027 77/8" - T %58 | 008018911 |# 1° FLAT WASHERS F436
. SECT' ON A A 9 /8" t 56 | 0080.06290 |# 3/4° X 6' ROUND HEAD BOLT, NUT, FLAT WASHER, L.W. |A449, AS563, ASME BIG.2LL
= —$— | -d?- 16 | 0080.05045 [¢ 5/8° X L 3/4° HEX BOLT, & F.W. 4307
t 4 - ALUMINUM DELINEATERS SUPPLIED BY FRL
3, I \ o1 116" (4%) 2 EXTRA FOR VAOT TESTING
F .
1'-6" I——Q Of Post of Round Head i = NOTES 65
- \ oun eal I. ALL WORK AND MATERIALS SHALL CONFORM TC SECTION .
10 13/16" ~1 3/4" r_g’_olt With Hex Nut, ANCHOR PLATE iADi’E{éOESFTCl)/i;%%VANIZING THE ASSEMBLED POST, GRIND ALL EDGES TO A MINIMUM
1 3/4"— " Washer And Spring SECTION B-B 3. ALL POSTS SHALL BE SET NORMAL TO GRADE.
", 4. SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TWO BRIDGE RAIL
7 5/8 »! ——————— —“5 '='='—r— ————— Lock Washer(Typ.) POSTS AND PREFERABLY TO AT LEAST FOUR POSTS.
| d—_— _——— L 5. RAIL TUBE EXPANSION JOINTS SHALL PROVIDED IN ANY RAIL BAY SPANNING THE
E" ) END OF AN INTEGRAL ABUTMENT BRIDGE AND AT ALL SUPERSTRUCTURE EXPANSION
I - ‘ 4 JOINTS. EXPANSION JOINT WIDTH SHALL BE 4" AT 45°F AND WILL BE ADJUSTED
_____..._‘I —————— IN THE FIELD BY THE ENGINEER FOR OTHER TEMPERATURES.
[ ) R S N DU L 14" 6. HOLES IN RAILS FOR RAIL TUBE ATTACHMENT WILL BE FIELD-DRILLED. HOLES
/ I —' ! SHALL BE COATED WITH AN APPROVED ZINC-RICH PAINT PRIOR TO INSTALLATION.
2'-23/8" 6" HSS 8x4x5/16" | I Lj o > 10" 7. RAIL POST ANCHORING NUTS SHALL BE TIGHTENED TO A SNUG FIT AND GIVEN AN
, -, L) ADDITIONAL ONE-EIGHTH TURN.
L Lyl \25%" / | 8. RAIL TUBES SHALL BE ATTACHED USING 3/4" FULL DIAMETER BODY ASTM A 449
W6x85./ 2' 10“ ________ L T T . — 113/16" Py {b. (TYPE I) ROUND HEAD BOLTS INSERTED THROUGH THE FACE OF THE TUBE. HOLES
- é I a IN POSTS SHALL BE 1/16" LARGER THAN THE BOLT SIZE:
i 4" E 6 - = 3 83’16" i ¥ 9. ANY BENDING OF RAIL SHALL BE DONE AT A FABRICATION PLANT ACCORDING TOQ
——————— S B e A PROCEDURE PROVIDED BY THE FABRICATOR.
| HSS 4xdxi/ o l | 10" @1 1/4" (4X) 10. THE MINIMUM DISTANCE FROM THE POST TO AN EXPANSION JOINT SHALL BE
DETERMINED BY THE MINIMUM EDGE DISTANCE OF 5" FROM ANY ANCHOR STUD
| Q0 ron /\H Hex Nut (w/ Flat Washer) —é- -d{ TO THE END OF THE SLAB, OR TO THE EXPANSION JOINT RECESS POUR, IF
. N l_ ol ——| eavy He ONE IS USED.
[1 ) Jﬂ]. 10 A y ITI. SEE STANDARD DRAWING G-I FOR DETAILS OF DELINEATORS. A DELINEATOR
i =t i ] Tt | SHALL BE INSTALLED AT 30 FOOT SPACING OR THE NEAREST POST. WHITE
1 J ™ M I | risg" IS TO BE INSTALLED ON THE DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW
TR =" FIBER PAD H H IS TO BE INSTALLED ON THE DRIVER'S LEFT. PAYMENT SHALL BE INCIDENTAL
| TRl " s Vi Y401 Anchorstuds w ' b 7O OTHER ITEMS.
||| I ||| 2L|;l/\l (wg-) l ||| l M——""1 2 -1/4.. Thrgad length (Both Ends) 12. THIS RAILING MEETS THE REQUIREMENTS FOR A TL-4 SERVICE LEVEL.
1 . . i ]
rh-‘l' L rl[“ c === =
LR i | ﬁ—\\ : ITEM_#:525.33 [ stEeT 1 oF 2
o A ™ Hex Jam Nut (No Washer 1/8" PREFORMED BEARING PAD :
7172 . STRUCTURAL STEEL T0
\ N COMPLY W/ ASTM A6
¢ Of Railing | \ GALAVANIZING TO BE PER PROJECT: ANDOVER BHF 016-1 (29) VT RTE11, RURAL MINOR ARTERIAL, BRIDGE NO. 41
Anchorage ﬁ | HEX TYPE A WIDE PLAIN WASHER ASTM A123. UNLESS TOWN OF ANDOVER, WINDSOR COUNTY, VERMONT
| Heavy Hex Nut (No Washer) 7 (13/16" x 2" x 5/32") . S 123,
LOCK 178 OTHERWISE SPECIFIED. R[NO. [ DATE DESCRIPTION BY| R |NO.| DATE DESCRIPTION  [BY]
/l/ /L /]/ 4/1/7 | /1’ LOT
NUT— | g ygrmppe (1 12 E[ 1| 5215 [REVISED PER 5/18/15 MARK=UP |E.P. E
J _\ TOLERANCE UNLESS v] 2 5/29/15 [REVISED PER 5/29/15 EMAIL |EP.
2 | —— OTHERWISE NOTED: = i 2256
Typical Post Elevation . HOLES - & 1/3e [Checkes | o1 4sers
Typical Post Section |- 376" MIN. FRACTIONS - % 1/16* ELDERLEE,INC L.
y A 449 (TYPE 1) Ve ANGLES - # 1/2° 0AKS CORNERS, NEW YORK 14578  [opriooraenc | APPROVED | . -
ROUND HEAD BOLT email: dlong@elderlee.com / epeek@elderlee.com, SCALE SCHEMATIC
Tel:316—-789-6670 Fax:315—-789-6615 B DRAWING NO. F.R.L. ANDOVER




FIXED SPLICE TUBE DETAIL

* REFI—|—
3 -3 ReFo

TS8x4x5/16"
]

FIXED SPLICE TUBE DETAIL

} wer, )“"‘% —

4x4x1/4'

L
| J/L
BOTTON, SIDE ONLY 41— 133

| / |
$3/4" 139"
BOTTOM SIDE ONLY 4 3%
@X>

SPLICE FOR: TS4x4x1/4”

TS3x3x5/16*
1o 3/4'@/
- =

______________ 85/8° TAPPED HOLE <(2x
#5/8 TAPPED |HOLE (2x TS7x3x3/8"
|
? 3/4°~] 13 3/4° @A e —
\,,__‘ __x,,__,./ L ——Z——i_x__"’é
- - o=
13 12 6,__1
e ‘ - ‘
—1'-6" 1/-6"
Vg v—gr
FIXED SPLICE ASS'Y FIXED SPLICE ASS'Y
L _”_é $/8’ NUT(@ DUTER H
#1/2" DRAI ?1/2* DRAI
HOLE HOLE
o | e-
$5/8"x1 3/4~ $5/8"x1 3/4*
A307 CAP SCREV A307 CAP SCREW
4% <4xX>
HARDENED WASHER- HARDENED WASHER
4xX> 4>
1l_2"
10"
7”
' 2” ’7/16"B
113/16"
LML s O
8 3/16" |
10"
5/16
O W O
1 1/4* DIA. HCILE-/ oD
FOR 1 DIA, ANCHOR \/\/ P S - 3 O 8 7
STUD <TYP.>

SECTION A-A

OLES ONLY)

EXPANSION SPLICE TUBE DETAIL

2" (REF.)
2’ (REFD
TS4x4x1/4"
|
I _______
{ O R —
i e ==
#1 1/8" x 3 1/2° 4] 3é’ -
BOTTOM SIDE ONLY:
@x> 11"

SPLICE FOR: TS4x4x1/4*

9578’ TAPPED HOLE <2x

/AN

9 374"

/-ﬁ 3747

l—

, J .
rog

EXPANSION SPLICE ASS’Y

#1/2" DRAI
HOLE

95/8°x1 3/4-
A307 CAP SCREW
4

HARDENED WASHER
4X>

5/8% NUTC(@ DUTER HOLES ONLY)

PIPE SPACERY

93/4" SCH. 40 x 1/2° LONG

<#1.05 0.D., .824 1D

TS3x3x5/16"

91 1/8" x

BDTTDM SIDE ONLY:

95/8" TAPPE

® 374"~

9172’ DRAI
HOLE

ar—
95/8'x1 3/4*
A307 CAP SCREW

EXPANSION SPLICE TUBE
2’ CREFD

2’ (REFD

DETAIL

TS8x4x5/16"
!

3 1s2°

"fg'__"gg,_] )

/L

SPLICE FOR: TS8x4x5/16”

wWar

& |

y-o8"

8 3/47

g
EXPANSION SPLICE ASS'Y
5/8° NUTC@ OUTER

/HEIL’.ES ONLY)

/V-TACK WELD
4

HARDENED WASHER

“4x>

“4xX>

PIPE

TS7x3x3/8

SPACER/

®#3/4° SCH, 40 x 1/2° LONG

<#1.05 0O.D., .824 LD)

1 3/4"—
‘l 1 3/4"
| 1.J79 | |
15 | I
55" 2 ]
2 ,L i
= ] I 104"
H 2
I TR 13
b % (4X)
2'-2 3/8" | )
M b
” 1.3} RN ITEM #: 525.33 | sHEET 2 OF 2
STRUCTURAL STEEL 70
(
vexes | Llvl ERAR BRIDGE RAIL DETAILS SHEET
1 : : PROJECT: ANDOVER BHF 016-1 (29) VT RTE11, RURAL MINOR ARTERIAL, BRIDGE NO. 41
||| gg%avﬁlr\éIS?INUGNLTEUSSBE PER TOWN OF ANDOVER, WINDSOR COUNTY, VERMONT
a3, fl OTHERWISE SPECIFIED. R[NO. [ DATE|[ DESCRIPTION BY| R[NO.| DATE DESCRIPTION __[BY]
2-1g :I A I A |7 €[ 1| 5/m/15 [REVISED PER 5/18/15 MARK-UP EP E
l TOLERANCE UNLESS v[ 2 | 5/2%/15 [REVISED PER 5/29/15 EMAIL
i OTHERWISE NOTED: —
I i HoLEs - ¢ 17527 g@:&%&@%& CHECKED | 5L 9o
al I —h | . FRACTIONS - £ 1/16 ELDERLEE,INC. rovEp T
ANGLES - # 1/2 OAKS CORNERS, NEW YORK 14578 [OFCRAGC - :
email: dlong@elderlee.com / epeck@elderlee.com, SCALE SCHEMATIC
Tel:315—-789—-6670 Fax:315-789-6615 B@ DRAWING NO. F.R.L. ANDOVER




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE#1

Material Specification A572 GRD. 50 /A992-06a
Welding Process FCAW

Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Specification A5.20

Filler Metal Classification ~ E70 LINCOLN QUTERSHEILD

Flux N/A ,
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50 CFM
Single or Multiple Pass SINGLE (45 TO 63 CFM)
Single or Multiple Arc N/A
Welding Current DC
Polarity DCEP
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE -
Heat Input Min Max
« WELDING PROCEDURE.
Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
1 3/32 390 27 12
Variable LIMITS 351 25 11
TO TO TO 7/16~ 1/2”% X
: 429 29 13

3/16"

7/16~1/2"

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3027 Contractor  Elderlee, Inc.
Revision No. Authorized By RANDY SCOTT
Date 4/4/2014




